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Spring 2016

WEEK in REVIEW 2
Sections 7.1, 7.2

Math 152/172

1. Find the area of the region between y = 7’ andy = s + 2 fromrz =0to x = 1
Ponts of intersechion
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2. Find the area of the region bounded by the line y = x and the parabola y = 6 — x2.

Poids of  inter section:
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3. Find the area of the region b-:))lénded by y = 2% and y = . (
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4. Find the area of the region between T = yandr =32 -y’ fromy=-2toy =2.
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5. Find the area of the region between lines r = —2y + 5, r =y — 1 and y= 0.
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6. Pt the area of the Tegion between = = —j° and T =7 —=2
Find  the o the refion Betwreen o= deo, = A acos, O2x<T

Point of ntersection:
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7. The base of a certain solid 1s a circle with diameter AB of length 2a. Find the volume of
the solid if &ch cross section perpendicular to AB 1s a square.
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8. The base of a certain sohd 1s the region in the zy—plane bounded by the parabolas
y = x> and r = y°. Find the volume of this solid if every cross section perpendicular to
the r—axis is a square with base in the zy—plane.

|y 0% < | ‘
Pick an owhbiery 0<% S|
— X porlivalar e a-owy - Shrowgh %
mmn o the wuare of wd Y.
- Rrea = 47

= v~ x* .
areo. :%/X)=&7'1= (1-x7)

/- 5',(5[\[2)2,7{# - j/(x-l@l@”é)o&c
o ° %5-/1,
|
([t e
’ 2 sh+t! 5 )/ 2 g4 R 57/
:Fgf ) 252” *é—j(o :[%\ :T ”‘%l

/
_x*i%xf]=
_[I—q_’)é-fso




wir2_sol.notebook February 01, 2016

9. Find the volume of a frustum of a pyramid with square base of side b, square top of side
a and height L.
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sinz on [0, 7] and y = 0 about the r—axis.
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10. Find the volume of the solid which i1s generated by rotating the region bounded by y =
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11. Verify the formula V' = §m‘2h for the volume of the circular cone with base radius r and

height k. -
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12. Find the volume of the solid generated by rotating the region bounded by y = 1 — 2,

lines ¥ = —1 and—r = 1ibmlt the line y = 2.
y) ~—
d LnﬁeW for %.

[£x <)

Ve T fl( [oR]% (zR]*)dx

ouber rodivg = [0R]= 2
bntr vading = LIRI= 2= (1% = [+x*

/e Wj(‘/ (1+x) o) o = 7rj(4 (1+dot+x )o{/x

=7rj'/3\ Av ke = 7F[3°“ ¥ - —‘]

12



wir2_sol.notebook

February 01, 2016

13. Determine the volume of the solid obtained by rotating the region bounded by z =5 —gg

and r = 1 about the y-axis. poi. s % intor geckion’
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